Frequency

Frequency

Frequency

Frequency

15

=
o

(((pst,(psb,psp)).((pfs.pfo),pfl)).((PPw,(PPY. (PPU,pPf))).PeN))

-
e

|

|

I — .

-~
R
TR L e
I
/B8,

i I:I_._"'T
: — - =
1 e
T T T T T T T 1
o 1 2 3 4 5 6 7 8
Degree

((psa,(pmy, (((pst.(psb,psp)).((pfs,pfo),pfl)).((Ppw, (PPg, (PPu,ppPf))).pen)))).pap)

15

=
o

15

=
o

15

10

-
-
——
I
.
.
. —
. . -
T - T -
Ji=al== Rl
== B
= By
: .

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree

(pfs,pfo)
-
——
I
|
L -
-
- hn E
. -1+ I -+
Bt
' -~ 5
| - T
[
‘:‘ - —_ . I:IE
—t—

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree

(PPW,(PPg. (PPU.PP))
—_
—
I
|
L
.
. —
. . -
T T .
=
. H =
T -
) R
. )
T

((pae,pag),(pau,((psa,(pmy,(((pst,(psb.psp)).((pfs.pfo),pfl).((PPW,(PPY.(PPU.PPf)).Pen)))).pap)))

Frequency

Frequency

Frequency

Frequency

15

=
o

15

=
o

15

=
o

15

=
o

-
-
T
4
-+
. —
. . —_
T T * T
- nalen e
BT B
T T
L ]
—_ ] E
- I ——
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree
((pst,(psb,psp)).((pfs,pfo),pfl))
-
I
|
-
.
- e
a X .
8= 0.
T T
o [
- I ——
T T T T T T T T T
0 1 2 3 5 6 7 8

4
Degree

(pmy, (((pst.(psb,psp)).((pfs,pfo),pfl)).((PPw. (PP, (PPU.PPf))).pEN)))

i
LEE

-

o 1 2 3 4 5 6 7 8
Degree

(psa,(pmy, (((pst,(psb,psp)).((pfs,pfo),pfl)). (PPW.(PPY.(PPU,PP)).peN))))

-
-
|
i
— .
-
L
. -
- ]
M= ~ B
— o= - -
— - e
- —t—
1T 1T 1 "1 71 “"1T "“"T1T 1
o 1 2 3 4 5 6 7 8
Degree

Frequency

Frequency

Frequency

Frequency

((pfs,pfo),pfl)

—_
154 1
I
|
. .
10 -+
R R
-+ -+ -+
R =R
i L =
— -
£ £
. —_ . ]
0 — 1 —— L
T T T T T T T T
0 1 2 3 4 6 7 8
Degree
(pae,pag)
-
-
154 1
Il
.
10 -
. —
T - e T T
i I |
== = . .
£ . -
T Bz
| . =
T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree
(PPg, (PPU,ppf)
—_
154 1
I
|
|
10 -
. —
—_
T T .
° 1 =
. E =
T -
) /= .
- . ——s
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree
(psb,psp)
N
¢
-+ -
10 — ‘
-
-+ -+ -
5— .
. - £ -+
B 3 . T[]
0 — : : ——
T

Frequency

Frequency

Frequency

Frequency

((pPW.(pPg.(PPU,PPf))),pen)

15

10

(pau,((psa,(pmy.(((pst.(psb,psp)).((pfs,pfo).pfl)).((Ppw, (PPY. (PPU,pPf))).pen)))).pap))

J-
-
15 = T
|
4
10 — -+
—
. . —_
T T T
1 nale=e
I
L - -
==
0 I —
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree
(ppu,ppf)
J—
15 - T
I
|
Il
10 — -
- + - -+ -+
5 - 1 -
8= 5.
. T
T o= -
: —_ . —
o ] [
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree
(pst,(psb.psp))
15 — t
I
|
10 - -
- I —
-+ . -+
5 - - ; o p——
) ) —_- . .
I - -
x4 l_._l x4 -
—_ ]
0 : —
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Degree




